INSTRUKCJA MONTAZU
ASSEMBLING INSTRUCTIONS

Derby Lite

!
2024/11/07

Prosze zapoznaé
sie z instrukcja
przed rozpoczeciem
montazu.

Before starting
refer to the
assembling

@ instruction.

M6x50
4

M6x16
4

M8x65
a4

M8x24
a4

5x40
3

3.5x30
a4

25x25
a4

1670x11i20x930 1700x970x130 1000x320x100

-1 -





















ﬁ«fo

ﬁﬁi | m

IMPORTER: PRODUCENT:
AGATA S.A. Al. Rozdzienskiego 93, 40-203 Furniture factory "Konstanta', Ltd
Katowice POLAND/POLSKA 62112 Ukraine, Kharkiv region.
www.agatameble.pl Bogoduhovsky district, p. Kupevaha
kontakt@agatameble.pl Street. Working d.2
+48 328887070 www.konstanta.ua, info@konstanta.ua




